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1. Consider the following statements:
1) All Scandinavian countries are members of NATO.
2) Sweden is located in Northern Europe and is bordered by the Norwegian Sea to the east.
3) The official currency of Sweden is the Euro.
How many of the above statements are correct?
a) Onlyone
b) Only two
c) Allthree
d) None

2. With reference to G-20, consider the following statements:
1) The G20 was founded in 1999 after the Asian financial crisis.
2) The presidency of the G20 rotates every year among members.
3) The country holding the presidency, together with the previous and next presidency-holder, forms the

‘Troika’ to ensure the continuity of the G20 agenda.

4) ltaly, Indonesia, and India are the Troika countries right now.
Which of the statements given above is/are correct?
a) 1land2only
b) 1,2, and 3 only
c) 2,3,and4only
d) 1,2, 3,and 4 only

3. At the Washington Conference of 1922, what was the ratio of naval strength agreed upon by US, Britain and
Japan in that order?
a) 5:3:3
b) 4:3:2
c) 5:5:3
d) 7:5:3

4. Cluster munitions were prohibited by the Convention on Cluster Munitions in 2008. Recently, the decision by
US to send cluster munitions to Ukraine's army has been generating controversy. What do cluster munitions
refer to?

a) A series of bombs delivered one after another.

b) Group of missiles delivered simultaneously covering a wide area.
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c) Heavy automatic combat gun for precision targets.
d) Group of missiles that achieve higher impact by hitting a core target.

Which of the following states have decided to make the first blockchain district of the country?
a) Andhra Pradesh

b) Karnataka

b) Maharashtra

c) Telangana

Which of the following government interventions comes under the “Green Box”’subsidies of WTO?
1) Expenditure on research and extension

2) Direct payment to farmers

3) Minimum Support Price (MSP)

4) Crop Insurance

Which of the statements given above is/are correct?

a) 1,2and3only

b) 1,2and 4 only

c) 2and4only

d) All of the above

. With reference to farm mechanisation, consider the following statements:

1) India’s current level of farm mechanisation is less than fifty percent on average.
2) Farm mechanisation has increased rapidly in the last two decades.

Which of the statements given above is/are correct?

a) 1lonly

b) 2only

c) Both1land2

d) Neither 1 nor 2

The economic cost for production of food grains includes which of the following?
1) Minimum support price

2) Distribution cost

3) Procurement cost

Select the correct answer using the code given below:

a) land3only

b) 1and 2 only

¢) 2and 3only

d) 1,2and3

Call us: 9100433442 | 9100433445 www.excelacademy.com


http://www.excelacademy.com/

9. With reference to Muslim World League, consider the following statements:

1) Muslim World League (MWL) is an international non-governmental organization (NGO) established in
1962.

2) India is the country with the second-largest population of Muslims in the world.

3) Itis an Observer in the Economic and Social Council (ECOSOC).

How many of the above statements is/are correct?

a) Onlyone

b) Only two

c) Allthree

d) None

10. Consider the following countries:
1) United States of America
2) Russia
3) China
4) Japan
5) India
6) Israel
How many of the above-mentioned countries have successfully achieved a soft landing on the moon?
a) Only three
b) Only four
c) Only five
d) All six
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